

On Product (E, 1) (C, α, β) Summability of Fourier Series and its Conjugate Series

By

Suyash Narayan Mishra^{1*} and Amrita Tripathi²

¹Department of Applied Sciences, Institute of Engineering and Technology, Lucknow (U.P.)

²Department of Applied Sciences, Amity School of Applied Sciences, Amity University, Lucknow.

E-mail: snmishra@ietlucknow.ac.in

Abstract

Summability is defined as a division of mathematical analysis where in an infinite series which is divergent by conventional summation methods is made to converge to a sum say 'w' & become summable through dissimilar summation methods. Ernesto Cesaro gave one such method known as C Method in which (C, 1) is the notation for ordinary Cesaro summation & (C, α) is the notation for generalized Cesaro summation. Euler provided summation formula which sums infinite series called (E, 1) summation method. Generalized (E, 1) (C, 1) to (E, 1) (C, α) ($\alpha > 0$) product summation is given by S.N.Mishra & Harsh Joshi [7]. The objective of this paper is to generalize (E, 1)(C, α) ($\alpha > 0$) to (E, 1)(C, α, β) ($\alpha > 0$) ($\beta > -1$) so that the series which can't be made summable by (E, 1)(C, 1) & (E, 1)(C, α) methods can be made summable by (E, 1)(C, α, β) ($\alpha > 0$) ($\beta > -1$) methods.

Keywords: (E, 1) means, (C, α) means, (E, 1) (C, α, β) product Means, Fourier series, Conjugate Series.

AMS Mathematics Subject Classification: 42B05, 42B08.

1. Introduction

Let $w_0, w_1, w_2, w_3, \dots, w_v$ denote partial sums of infinite series $\sum s_n$. The series $\sum s_n$ converges to a particular sum 'w' in (C, 1) means if

$$\sigma = \frac{w_0 + w_1 + w_2 + w_3 + \dots + w_v}{s+1} \rightarrow s$$

As $s \rightarrow \infty$. (C, α) Summability of an infinite series $\sum s_n$ is given by

$$(C, \alpha) = \frac{1}{\binom{n+\alpha}{\alpha}} \sum_{s=0}^n \binom{s+\alpha}{\alpha} w_{n-s} \rightarrow w$$

$$(C, \alpha) = \frac{1}{\binom{n+\alpha}{\alpha}} \sum_{s=0}^n \binom{n-s+\alpha}{\alpha} w_n \rightarrow s \text{ as } n \rightarrow \infty.$$

And (C, α, β) summability of an infinite series $\sum s_n$ is given by

$$(C, \alpha, \beta) = \frac{1}{\binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \binom{n-s+\alpha+\beta}{\alpha+\beta} w_n \rightarrow w, \text{ when } \alpha > 0, \beta > -1.$$

(C, α, β) Summability Method

Let $f(x)$ be any function which is Lebesgue integrable in any finite interval of $x \geq 0$ and bounded in some right hand neighborhood of the origin. Let $\partial_{\alpha, \beta}(x)$ and the (C, α, β) transform of $f(x)$ is defined by

$$\partial_{\alpha+\beta}(x) = \begin{cases} f(x) \alpha=0 \\ \frac{\Gamma(\alpha+\beta+1)}{\Gamma\alpha\Gamma\beta+1} \int_0^x x-y^{\alpha-1}y^{\beta}f(y)dy \quad (\alpha>0, \beta>-1) \end{cases}$$

If for $x > 0$, the integral defining $\partial_{\alpha, \beta}(x)$ exists and if it tends to w , as x tends to infinity, we say that $f(x)$ is summable (C, α, β) to w and we write $f(x) \rightarrow w(C, \alpha, \beta)$.

The series $\sum S_n$ is Euler summable (E, 1) to a sum w if.

$$(E; 1) = \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} w_q \rightarrow w, \text{ as } s \rightarrow \infty.$$

Then (C, α, β) (E, 1) summability of series $\sum S_n$ is given by,

$$C_n^{\alpha, \beta} E_v^1 = \frac{1}{\binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \binom{s+\alpha+\beta}{\alpha+\beta} E_v^1 \rightarrow w, \text{ when } \alpha > 0, \beta > -1 \text{ and } n \rightarrow \infty.$$

Let $f(x)$ be a 2π periodic function of x and Lebesgue integrable in the interval $(-\pi, \pi)$. The Fourier series of $f(x)$ is given by

$$f(x) \sim \frac{a_0}{2} + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx) = \sum_{n=1}^{\infty} A_n(x).$$

The conjugate series is given by

$$\sum_{n=1}^{\infty} (a_n \cos nx - b_n \sin nx) = \sum_{n=1}^{\infty} B_n(x).$$

We have following assumptions

$$\phi(t) = f(x+t) + f(x-t) - 2f(x), \quad \Psi(t) = f(x+t) - f(x-t)$$

$$H_n(t) = \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \left| \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{\sin(q+\frac{1}{2})t}{\sin \frac{t}{2}} \right] \right|$$

$$\overline{H_n(t)} = \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \left| \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{\cos(q+\frac{1}{2})t}{\sin \frac{t}{2}} \right] \right|$$

where $\tau = [\frac{1}{t}]$, where τ denotes greatest integer not greater than $\frac{1}{t}$.

2. Main Theorems

Theorem 1: Let $\{P_n\}$ be a positive monotonic, non increasing sequence of the real constant such that

$$P_n = \sum_s P_s \rightarrow \infty, \text{ as } n \rightarrow \infty. \text{ If}$$

$$\phi(t) = \int_0^t |\phi(u)| du = o\left(\frac{t}{[\alpha(\frac{1}{t}) + \beta(\frac{1}{t})]P}\right) \text{ as } t \rightarrow +0.$$

where $\alpha(t)$ and $\beta(t)$ are positive monotonic and non-increasing function of t such that $\log(n+1) = O([\alpha(n+1) + \beta(n+1)]P_{n+1})$ as $n \rightarrow \infty$.

Then Fourier series is summable to (E, 1) (C, α, β) to $f(x)$.

Theorem 2: Let $\{P_n\}$ be a positive monotonic, non increasing sequence of the real constant such that

$$P_n = \sum_s P_s \rightarrow \infty, \text{ as } n \rightarrow \infty. \text{ If}$$

$$\phi(t) = \int_0^t |\phi(u)| du = o\left(\frac{t}{[\alpha(\frac{1}{t}) + \beta(\frac{1}{t})]P}\right) \text{ as } n \rightarrow \infty$$

where $\alpha(t)$ and $\beta(t)$ are positive monotonic and non-increasing function then conjugate series is summable to $\overline{f(x)} = \frac{1}{2\pi} \int_0^{2\pi} \varphi(t) \cot(\frac{t}{2}) dt$.

3. Required Lemmas

Lemma 1: $|H_n(t)| = O(n+1)$. For $0 \leq t \leq \frac{1}{n+1}$

Proof: For $0 \leq t \leq \frac{1}{n+1}$, $\sin nt \leq n \sin t$

$$\begin{aligned} H_n(t) &\leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{\sin(q+\frac{1}{2})t}{\sin \frac{t}{2}} \right] \\ &\leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \left| \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} (2q+1) \right] \right| \\ &\leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \left| \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} (2s+1) \right] \right| \\ &\leq \frac{(2n+1)}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \left[\sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \right] \right] \\ &\leq \frac{(2n+1)(n+1+\alpha+\beta)}{2\pi(\alpha+\beta+1)} \\ &= O(n+1). \end{aligned}$$

Lemma 2: $|H_n(t)| = O(\frac{n+1}{t})$, For $\frac{1}{n+1} \leq t \leq \pi$.

Proof: For $\frac{1}{n+1} \leq t \leq \pi$, applying Jordan's lemma $\sin \frac{t}{2} \geq \frac{t}{\pi}$,

$$\begin{aligned} |\sin nt| &\leq 1. H_n(t) \leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{\sin(q+\frac{1}{2})t}{\sin \frac{t}{2}} \right] \\ &\leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \right] \\ &\leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \right] \\ &\leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \left[\sum_{s=0}^n \left[\binom{n+1+\alpha+\beta}{\alpha+1+\beta} \right] \right] \\ &\leq \frac{n+\alpha+1+\beta}{2t(\alpha+1+\beta)} \leq O\left(\frac{n+1}{t}\right). \end{aligned}$$

Lemma 3: $|\overline{H_n(t)}| = O(\frac{n+1}{t})$. For $0 \leq t \leq \frac{1}{n+1}$

Proof: For $0 \leq t \leq \frac{1}{n+1}$, $\sin \frac{t}{2} \geq \frac{t}{\pi}$ and $|\cos nt| \leq 1$,

$$|\overline{H_n(t)}| \leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{\cos(q+\frac{1}{2})t}{\sin \frac{t}{2}} \right]$$

$$\begin{aligned}
&\leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{|\cos(q+\frac{1}{2})t|}{|\sin\frac{t}{2}|} \right] \\
&\leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{1}{(\frac{t}{\pi})} \right] \\
&\leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \right] \\
&\leq \frac{n+\alpha+1+\beta}{2t(\alpha+1+\beta)} \\
&= O\left(\frac{n+1}{t}\right)
\end{aligned}$$

Lemma 4: For $0 \leq a \leq b \leq \infty$, $0 \leq t \leq \pi$ and for any n , we have $|H_n(t)| = O\left(\frac{n+1}{t}\right)$.

Proof: For $0 \leq \frac{1}{n+1} \leq t \leq \pi$, $\sin\frac{t}{2} \geq \frac{t}{\pi}$,

$$\begin{aligned}
|\bar{H}_n(t)| &\leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{\cos(q+\frac{1}{2})t}{\sin\frac{t}{2}} \right] \\
&\leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{|\cos(q+\frac{1}{2})t|}{|\sin\frac{t}{2}|} \right] \\
&\leq \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \frac{\cos(q+\frac{1}{2})t}{\frac{t}{\pi}} \right] \\
&\leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \operatorname{Re} \exp(i(q+\frac{1}{2})t) \right] \\
&\leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{q=0}^s \binom{s}{q} \operatorname{Re}(\exp(iqt)) \right] \left[\left| \exp(i\frac{t}{2}) \right| \right] \\
&\leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \operatorname{Re} \sum_{q=0}^s \binom{s}{q} (\exp(iqt)) \right] \\
&\leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^{\tau-1} \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \operatorname{Re} \sum_{q=0}^s \binom{s}{q} (\exp(iqt)) \right] \\
&+ \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=\tau}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \operatorname{Re} \sum_{q=0}^s \binom{s}{q} (\exp(iqt)) \right] \\
&= \bar{H}_1 + \bar{H}_2 \\
\bar{H}_1 &\leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \left| \sum_{s=0}^{\tau-1} \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \operatorname{Re} \left(\sum_{q=0}^s \binom{s}{q} \right) (\exp(iqt)) \right] \right| \\
\bar{H}_1 &\leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \left| \sum_{s=0}^{\tau-1} \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \operatorname{Re} \left(\sum_{q=0}^s \binom{s}{q} \right) \right] \right| \left| (\exp(iqt)) \right|
\end{aligned}$$

$$\bar{H}_1 \leq \frac{1}{2t \binom{n+\alpha+\beta}{\alpha+\beta}} \sum_{s=0}^{t-1} \left[\binom{s+\alpha+\beta}{\alpha+\beta} \right]$$

$$\bar{H}_1 \leq \frac{n+1}{2t}. \text{ Similarly, } \bar{H}_2 \leq \frac{n+1}{2t}.$$

4. Proof of Theorems

Proof of Theorem 1: Using Riemann Lebesgue Theorem and Titchmarsh[4]. $S_n(f; x)$ of the series is given by

$$S_n(f; x) - f(x) = \frac{1}{2\pi} \int_0^\pi \phi(t) \frac{\sin(n+\frac{1}{2})t}{\sin\frac{t}{2}} dt$$

Then (C, α, β) summation of $S_n(f; x)$ is given by

$$C_n^{\alpha, \beta} - f(x) = \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \int_0^\pi \phi(t) \left[\sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{\sin(s+\frac{1}{2})t}{\sin\frac{t}{2}} \right] dt \right]$$

Now (E, 1) (C, α, β) summation of $S_n(f; x)$ is given by

$$\begin{aligned} E_v^1 C_n^{\alpha, \beta} - f(x) &= \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \int_0^\pi \phi(t) \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{s=0}^n \binom{s}{q} \frac{\sin(s+\frac{1}{2})t}{\sin\frac{t}{2}} dt \right] \\ &= \int_0^\pi \phi(t) H_n(t) dt. \end{aligned}$$

Now, we have to prove that,

$$= \int_0^\pi \phi(t) H_n(t) dt = o(1) \text{ as } n \rightarrow \infty.$$

For $0 < \delta < \pi$,

$$\begin{aligned} &= \int_0^{\frac{1}{n+1}} \phi(t) H_n(t) dt + \int_{\frac{1}{n+1}}^{\delta} \phi(t) H_n(t) dt + \int_{\delta}^\pi \phi(t) H_n(t) dt \\ &= I_1 + I_2 + I_3. \end{aligned}$$

$$\text{Then, } I_1 \leq \int_0^{\frac{1}{n+1}} |\phi(t)| |H_n(t)| dt.$$

From Lemma 1, $|H_n(t)| = O(n+1)$

$$= O(n+1) \left[\int_0^{\frac{1}{n+1}} |\phi(t)| |H_n(t)| dt \right]$$

$$\begin{aligned} \text{Also, } \phi(t) &= o\left(\frac{1}{\frac{1}{t}(\alpha(\frac{1}{t})+\beta(\frac{1}{t}))P_\tau}\right) \\ &= O(n+1) \left[o\left(\frac{1}{\frac{1}{t}(\alpha(\frac{1}{t})+\beta(\frac{1}{t}))P_\tau}\right) \right]_0^{\frac{1}{n+1}} \\ &= O(n+1) o\left(\frac{1}{n[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right) \\ &= o\left(\frac{1}{[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right) \\ &= o\left(\frac{1}{\log(n+1)}\right) \end{aligned}$$

$$= o(1) \quad \text{as } n \rightarrow \infty$$

From Lemma 2,

$$H_n(t) = o\left(\frac{n+1}{t}\right).$$

Integrating by parts,

$$= O(n+1) O\left[\left(\frac{\phi(t)}{t}\right)_{\frac{1}{n+1}}^{\delta} + \int_{\frac{1}{n+1}}^{\delta} \frac{\phi(t)}{t^2} dt\right].$$

$$\text{By Lemma 1, } \phi(t) = o\left(\frac{1}{t\left(\alpha\left(\frac{1}{t}\right) + \beta\left(\frac{1}{t}\right)\right)P_t}\right)$$

$$\text{Let } t = \frac{1}{u} \rightarrow dt = -\frac{dt}{u^2}.$$

Now we have,

$$\begin{aligned} &= O(n+1) O\left[o\left(\frac{1}{[\alpha(n)+\beta(n)]P_n}\right) + \int_{\delta}^{\frac{1}{n+1}} o\left(\frac{1}{u[\alpha(u)+\beta(u)]P_u}\right) du\right] \\ &= O(n+1) o\left(\frac{1}{[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right) + o\left(\frac{1}{[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right) \\ &= O(n+1) [o\left(\frac{1}{\log(n+1)}\right) + o\left(\frac{1}{\log(n+1)}\right)] \\ &= o\left(\frac{n+1}{\log(n+1)}\right) + o\left(\frac{n+1}{\log(n+1)}\right) \\ &= o(1) + o(1) \quad \text{as } n \rightarrow \infty. \end{aligned}$$

$$\text{Similarly, } I_3 = \int_0^\pi \phi(t) H_n(t) dt = o(1) \quad \text{as } n \rightarrow \infty.$$

Proof of Theorem 2: If $\overline{S_n(f; x)}$ denotes partial sum of conjugate series then from Riemann Lebesgue theorem and using Titchmarsh [4].

$$\overline{S_n(f; x)} = \frac{1}{2\pi} \int_0^\pi \phi(t) \frac{\cos(n+\frac{1}{2})t}{\sin\frac{t}{2}} dt$$

Then, $\overline{C_n^{\alpha, \beta}}$ summation of $\overline{S_n(f; x)}$ is given by,

$$\overline{C_n^{\alpha, \beta}} - f(x) = \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \int_0^\pi \varphi(t) \left[\sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{\cos(s+\frac{1}{2})t}{\sin\frac{t}{2}} dt \right] \right]$$

Now (E, 1) (α, β) summation of $\overline{S_n(f; x)}$ is given by

$$\begin{aligned} &\overline{E_v^1 C_n^{\alpha, \beta}} \\ &\overline{E_v^1 C_n^{\alpha, \beta}} - f(x) \\ &= \frac{1}{2\pi \binom{n+\alpha+\beta}{\alpha+\beta}} \int_0^\pi \varphi(t) \sum_{s=0}^n \left[\binom{s+\alpha+\beta}{\alpha+\beta} \frac{1}{2^s} \sum_{s=0}^n \binom{s}{q} \frac{\cos(s+\frac{1}{2})t}{\sin\frac{t}{2}} dt \right] \end{aligned}$$

$$= \int_0^\pi \varphi(t) [\overline{H_n(t)}] dt.$$

Now, we have to prove that,

$$= \int_0^\pi \varphi(t) [\overline{H_n(t)}] dt = o(1) \quad \text{as } n \rightarrow \infty.$$

For $0 < \delta < \pi$,

$$\begin{aligned} &= \int_0^\pi \varphi(t) [\overline{H_n(t)}] dt \\ &= \int_0^{\frac{1}{n+1}} \varphi(t) [\overline{H_n(t)}] dt + \int_{\frac{1}{n+1}}^\delta \varphi(t) [\overline{H_n(t)}] dt + \int_\delta^\pi \varphi(t) [\overline{H_n(t)}] dt \\ &= I'_1 + I'_2 + I'_3. \end{aligned}$$

$$\text{Where } I'_1 = \int_0^{\frac{1}{n+1}} \varphi(t) [\overline{H_n(t)}] dt$$

$$I'_2 = \int_{\frac{1}{n+1}}^\delta \varphi(t) [\overline{H_n(t)}] dt$$

$$\text{and } I'_3 = \int_\delta^\pi \varphi(t) [\overline{H_n(t)}] dt$$

$$\text{then, } I_1 \leq \int_0^{\frac{1}{n+1}} |\varphi(t)| |H_n(t)| dt.$$

$$\leq O\left(\frac{n+1}{t}\right) \left[\int_0^{\frac{1}{n+1}} |\varphi(t)| dt \right]$$

$$\leq O(n) \int_0^{\frac{1}{n+1}} |\varphi(t)| dt$$

Also, By Theorem 2,

$$\begin{aligned} \varphi(t) &= o\left(\frac{1}{t^{\left(\alpha\left(\frac{1}{t}\right) + \beta\left(\frac{1}{t}\right)\right)P_\tau}}\right) \\ &= O(n) \int_0^{\frac{1}{n}} o\left(\frac{1}{t^{\left(\alpha\left(\frac{1}{t}\right) + \beta\left(\frac{1}{t}\right)\right)P_\tau}}\right) dt \\ &= O(n+1) o\left(\frac{1}{n[\alpha(n+1) + \beta(n+1)]P_{n+1}}\right) \\ &= O(n+1) o\left(\frac{1}{[\alpha(n+1) + \beta(n+1)]P_{n+1}}\right) \end{aligned}$$

$$\text{As } \log n = o[(\alpha(n+1) + \beta(n+1))P_{n+1}]$$

$$= o\left(\frac{n+1}{\log(n+1)}\right)$$

$$= o(1) \quad \text{as } n \rightarrow \infty$$

Now we consider,

$$I'_2 = \int_{\frac{1}{n+1}}^\delta |\varphi(t)| |\overline{H_n(t)}| dt$$

$$\text{From Lemma 4, } \overline{H_n(t)} = o\left(\frac{n+1}{t}\right).$$

Integrating by parts,

$$\begin{aligned} &= O(n+1) O\left[\int_{\frac{1}{n+1}}^{\delta} \frac{\varphi(t)}{t} dt\right] \\ &= O(n+1) O\left[\left(\frac{\varphi(t)}{t}\right)_{\frac{1}{n+1}}^{\delta} + \int_{\frac{1}{n+1}}^{\delta} \frac{\varphi(t)}{t^2} dt\right]. \end{aligned}$$

By Theorem 2,

$$\begin{aligned} \varphi(t) &= o\left(\frac{1}{t\left(\alpha\left(\frac{1}{t}\right)+\beta\left(\frac{1}{t}\right)\right)P_t}\right) \\ &= O(n+1) O\left[o\left(\frac{1}{\alpha\left(\frac{1}{t}\right)+\beta\left(\frac{1}{t}\right)P_t}\right) \frac{\delta}{n+1} + \int_{\frac{1}{n+1}}^{\delta} o\left(\frac{1}{t\left(\alpha\left(\frac{1}{t}\right)+\beta\left(\frac{1}{t}\right)\right)P_t}\right) dt\right] \\ &= O(n+1) o\left[\left(\frac{1}{[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right) + \int_{\frac{1}{n+1}}^{\delta} o\left(\frac{1}{t\left(\alpha\left(\frac{1}{t}\right)+\beta\left(\frac{1}{t}\right)\right)P_t}\right) dt\right] \end{aligned}$$

$$\begin{aligned} \text{Let } t = \frac{1}{u} \rightarrow dt = -\frac{du}{u^2} \\ &= O(n+1) O\left[o\left(\frac{1}{[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right) + \int_{\delta}^{\frac{1}{n+1}} o\left(\frac{1}{u[\alpha(u)+\beta(u)]P_u}\right) du\right] \\ &= O(n+1) O\left[o\left(\frac{1}{[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right) + o\left(\frac{1}{n[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right) \int_{\delta}^{n+1} du\right] \\ &= O(n+1) O\left[o\left(\frac{1}{[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right) + o\left(\frac{1}{[\alpha(n+1)+\beta(n+1)]P_{n+1}}\right)\right] \end{aligned}$$

By Theorem 1,

$$\begin{aligned} \log(n+1) &= o(\alpha(n+1)P_{n+1}) \\ &= O\left[o\left(\frac{n+1}{\log(n+1)}\right) + o\left(\frac{n+1}{\log(n+1)}\right)\right] \\ &= o\left(\frac{n+1}{\log(n+1)}\right) + o\left(\frac{n+1}{\log(n+1)}\right) \\ &= o(1) + o(1) \quad \text{as } n \rightarrow \infty. \\ &= o(1) \quad \text{as } n \rightarrow \infty. \end{aligned}$$

By Regularity Condition of Summability,

$$I'_3 \leq \int_0^{\pi} |\varphi(t)| |\overline{H_n(t)}| dt = o(1), \text{ as } n \rightarrow \infty.$$

Then, $\overline{E_v^1 C_n^{\alpha, \beta}} - \overline{f(x)} = o(1)$. as $n \rightarrow \infty$, completes proof of theorem.

The above result generalizes to (E, 1) (C, α) when $\beta = 0$ [7].

5. Declaration

The authors declare that there is no conflict of interest regarding the publication of this paper.

References

[1] A.N. Singh, *Norlund summability of Fourier series and its conjugate series*, Bull. Cal. Math. Soc., 82 (1990), 99-105.

- [2] A. Zygmund, *Trigonometrical series*, 3rd edition, Volumes I and II combined, *Cambridge University Press*, 2003.
- [3] B.L. Jadiya, *On Norlund summability of conjugate Fourier series*, *Indian Journal of Pure and Applied Mathematics* 13 (1982), 1354-1359.
- [4] E.C. Titchmarsh, *Theory of Functions, First Edition*, *Oxford University Press*, 1939, 402-403.
- [5] G.H. Hardy, *Divergent Series, First Edition*, *Oxford University Press*, 1949, 70.
- [6] H.K. Nigam and Kusum Sharma, *On (E; 1) (C; 1) Summability of Fourier series and its conjugate series*, *International J. Pure and Appl. Math.* 82 (2013), 365-375.
- [7] S.N. Mishra & Harsh Joshi, *On (E; 1) (C; α) Summability of Fourier series and its conjugate series*. *Journal of Appl. & Pure Math.* Vol. 2(2020), No. 3 - 4, pp. 99 - 110 ISSN: 2671-4000(print), 2636-1612(online)
- [8] Suyash Narayan Mishra, *On Double Fourier series and Product Summability Methods*, *International Journal of Computational and Applied Mathematics* 12 (2017), 125-128.